Potencias de 10 (H)

8,969 =-0,01

4,909 - 0,001

6,565 0,001

7,265 +0,1

5,846+ 0,01

4,76 +0,001

5,757 0,001

6,704 =0,01

5,091 =0,01

3,269-+0,1

Calcule los siguientes cocientes.

4,786 +0,1

6,792 =0, 1

2,312 0,001

8,927 0,001

8,5050, 1

4,551 0,1

9,924 0,01

2,228 +0,001

7,005 = 0,01

7,726 +-0,01
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Potencias de 10 (H) Respuestas

8,969 = 0,01
896,9
4,909 + 0,001
4.909
6,565 < 0,001
6.565
7,265 0,1
72,65
5,846 +0,01
5846
4,76 +0,001
4.760
5,757 0,001
5.757
6,704 + 0,01
670, 4
5,091+ 0,01
509, 1
3,269+ 0,1
32,69

Calcule los siguientes cocientes.

4,786-=0,1
47,86
6,792+0,1
67,92
2,312-+0,001
2.312
8,927 0,001
8.927
8,505+0,1
85,05
4,551+0,1
45,51
9,924 +0,01
992.4
2,228 +0,001
2.228
7,005 0,01
700, 5
7,726 0,01
772.,6
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